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Fpi-2 Fits
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Fpi-2 Fits from Fit-SA-Minuit (FitSAMin, FISAMi)

Q?=1.6+2.45, W=2.22
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Sigma T Model Fit

Best x2: 2.187
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Sigma TT Model Fit
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Next step look at

Fpi-1
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Constants:

T, Mar = 093827231, m,+ = 0139570, mg+ = 0.493677 KaonLT
Analysis
tay = (0.05032 + 0.01345 In Q2 ) Qo
t[— l#:a,v
fta,v = | |t 3
£ = £l | _ B
t (t] + m?2 +)2’ Data has pion subtraction and empirical
K .
fit
or = (p1 ft) exp(—|p21t]), o No X fit
p
op = |t|26 exp(—|p7 t]),
P9
T = ma

s
orT = e exp(—|p1s t),

1

Wractor = 3 ;
o o  0.85 W2, 507 W.e+12.68
(W - mta,r)




Q%=4.4, W=2.74 | 1.10 < M. =114,088<M_=0.94
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SHMS xptar SHMS yptar SHMS delta

Q%*=4.4, W=2.74 | 1.10<M,_<1.14,0.88 <M_<0.94




Q%*=4.4, W=2.741.10=M_<1.14,0.88 <M_=<0.94
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Unseparated Cross Section [nb/GeV?]

Unseparated Cross Section [nb/GeV?]

Q%*=4.4, W=2.741.10=M_<1.14,0.88 <M_=<0.94
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unseparated cross

Weighted average
sections
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Q%*=4.4, W=2.741.10=M_<1.14,0.88 <M_=<0.94
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Next Steps for Analysis

o Q%=4.4/W=2.74{%4

e Kin's work...
o Q2%=2.115/W=2.95

e Refine model, last fit optimizations (Mid-October)
e Preliminary systematics study (Start of November)
e Final full replay and finalize systematics study (Before Thanksgiving)
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Fpi-2 Fits from ariv 0809.3161

Q?*=1.6, W=2.22
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Q?=2.45, W=2.22
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